RER A EB% SMOOFEEZEPREREBITEFTE X 4ABEDTETT, TEOAWRMLHYET, HPIZEBEELET, 2024. 4. 5RE

45 58 6/ 78 8A 9A 108 118 128 A 2R 3R
A|ELS 160| R ED (1) 1(A) 1K) 1(8) (%) (&) | RHTANO(34F) 1(8) 160 <FTHE > 1(+) 1(+)
20| BB RS 2(K) 28) 20K) 2&) | RATHE 20R)|shER 205K) 20+) 28) 2(K) 28) 28)
AR
30Kk) B <BETEZBE> 38 30Kk) 3(1) 3(R)|RATANMBE)D 3K | BT AND )| <zxfbmB > 3(K) 3(%) 38| BT ETEREIRD 3A)|PTAIRES
BRHEET AN -24)
4K) “D)|<HFEYDH> LICSE”N-—¢:3 4R) 4(8) 40K) A(®)| BT AN l AR <IREHKRB> A RABHE A1) 400 | RITRTHRIRQ 4K
5%)| MBS 5(B)|<ZEEDA > 5| EABERFHA 5(%) 5| FLERTFN LD 1 5(K) 5(+) 5(k) 5(%) 5(8) 5(4) | KR FHE 5(4) | R FHE
= EME SRR PN EN = . - " N
6(+) 6(A)| <{EEH B > 6(K) i N e L ERTFNEUQ | | 6@ 6(8) 60K) | RIS 6(4) 6(7) 6() 60R)| ZE R
N . 5 EME SRR R = . ENMERE BEERB24 &
7(8) 75| REESHRI (1 AR A) (&) | HEEBKRT 7(8) (B3 ohTr=2) 1| FVER+TFENEQ | YES) RYSTEAS 7(8) e A (~10/28) 7(K) 7(£) 7(K) (&) (&)
BEER - RER 5 ! & 1hER
8(A) At 8(k) 8(+) 8(A) 8(#) 8(A) ,iﬁi\ﬂé?:_% 8() 8(2) 8(8) 8(k) BEHE 8(+) 8(+)
(VINT=R)
RRRZ (134 5R) HMERA
9| Azt 9K | REEFH B (1 EARA) 9(g) 9(K) EES) 9(a) 9(K) 9(+) LM aR)|EHFRNBE)® 9(A) 9(A)
#ZSC 24 BETAN-24)
BELE REHH(14F8)
togk)| R == 10&)|H#2SC 14 10A)| AT ANBE)Q 100k) 10(%) 100 00| ESEHA 10(8) 100K) 10(4) 1008) 1009)| B T B EA Rk
ET}E%E uﬂ/ﬁfﬁﬁfl\
REEQ
A N =
11(K) ﬁﬁsﬁy”, %fi/ﬁ'lm M) EHEERES(EEK) 110K) 11(K) | <o > 110K) 1(8)| 3EHRUN—H L 1(8) MoK | B E A% 1(x) N <ZEZSH> 11(k)
PTAREBRES *
12(4) Y [12(8) 1208 | BN FHE 12(%) 1208)| <REWHKB > 12(K) 12(1) 1204) 12(K) 12(8) 1200 | BB A% 120k)
[ 5 A 1 AIELERIRAE KR
1368) | ZESA | EERA(EE) || EnEEEE 1300 | S ARERRE B ise a8 00| EBBHE RED | [13@) 1309)| < EADE > 13080 2 H 7 AM(3E) D 1908
(T EEWBE- RE) (FBk-VINT=R) B NER sk 2 A
FREEHES
148) | BEEHT TV 1400 | B HR 1T (3E)D i 14(%) 14(8) ?ﬁﬁﬁgfﬁg_x) 140K | AR B 1400 |2 HIE RS (FFER) A< AKR—YDH> 1400 | IR IRA S (3FE)Q 14(+) 14(k) 14(%) 14(%)
1508)| PaRs IR (3485 61R) J |15 | 8217 (340) @ ces 58| <mDE > 1500 | e B B 58| REHEAR(BH) | 1500|EHTANEHO 150 ERBHS SO | g 15| EERTRCHD g, 152)
BOEE(24F) v BERE
16() Eﬁzgﬁﬁéﬁﬁ 1608 | {217 (3E)Q | 16(A) 16000 | {REZE BKED 4 e | AR A v |[168)| <#hEOE > 160K) | B PN RFFAE 16() 16(8) %EE?&% I 16(8)| EEFRTANBE)Q 16(R) 16(8)
17000 | A3 BB - BT S 17(8) | mEas 00| REEBXLQ 17) 1700 1768 17(e) 1700 %gfﬁ?éﬁﬁ%@ | FERFANGDS | |7 %ﬁfﬁ%ﬁ YN T | ek s
'Y
SEFHFERRAEEH) & REEBHKROQ B AEEE 2H)0 = | REEBHS &
18(k) spaspEe X 18(+) 18() 18(4) Taega s S b ! 18(8) 180K) Fecfatyon 18(&)| ST{E &R 18(8) 180K) | (R ERKLD LS 18(%) (EABBRE)D 18(%)
A
RERSHE K , = st 48 (kB s s BELE
19(%) X(ZBE@{KGBEME:{) 19(8) 190K)| #3567 D 19(%) BB 2% S 19(8) 1960 | BB ABR T (24)@ | |19 19(K) 19(£) 19(R) 190K) 190K) AR B
p A
BEETL HE(~6/7) - EEFHE X BISARFE (296)0Q ( - " =
20(+) 20(8) SR (2 3R B L) 208 | BAZR T AN 20(+) (B3 SL— L) 20(K) 20(%) ol (145) | 20(8) 200K)| BAZR T ARD 208) | 2Z HHA B RK A 20(A) 20(%) 200 | <HFEHDHE>
EMEFAR N pa— . R T AN EME SR 5 ! ! ( = ) : 1
21(8) (FH AT 2 B 21000 | REEH (2-3EHEE) ! 21() A aGYT | 21(8) (B3 /8L L) 21(7) 21(1) ;=R E AL (BFEK) 21(A) 218 | BAZR T A 21(1) 21() 21(%) 21| BAL
NEHEZ (245 6MR) - EHEERIE " o | IR T 2D
22(8) 200 | E A% 22(1) 22(8) (UFRF =2 E3%) 22(%) 22(R) 22(K) 22(%) AEaGyT | 22(8) 22(7k) 22(1) 22(1)
23() Wﬂ*ﬁ/’“ga&ﬁ)* 23(K) 23(8) 23() iﬁgié—%;%ﬁ_ﬂz) 23(%) 2808)| <FkHDBE > 230K | B B 2% 23()| < B REH D B > 23(8) | # 2= 23(K) BB)| < KEFER > 23(A)
240K | B B 2% BRNFHE 24(%) 24(8) 24() 24(%) 24(K) 24(K) ﬁ%gg%%ﬁg@ 24(R) 24() 24(%) 24(8)| <IREHK B > 24| #8 B 1L |
2500 |l RHER S (AML23248) W |25(0)|PTAZS 25() 25(K) 25(8) %Fﬁmﬁikﬁj*_a 250K) | B B % 25(%) 25(8) 25(5k) 25(0) | BT AW ESESTH (AM) | 2500 | B E R T XN -2&)@‘ BUET 1
26() Bxs ﬁ;.%f%ggﬁﬁ 26| PTABHEXFHA 26(7) 26(2) 26(A) 26(K) 26(+) 26(:X) 26() 26(8) 260K)| LERT AN -24E)D | [260K)
PTAZMZAS ‘
27(+) 27(R) 27(K) 27(t) 27(K) 27(&) 27(8) 2100 | BB i 27(&) 27(R) 27(K) zii;i{é\g>'2ﬁ>©‘ 27(K)
" tire . = Acx b " EMMERR "
28(R) 28() 28(%) FE = 28(R) 280K | B B 2% RNFHE 28(%) (B3 /Lol 28(0)| HBEBKRT 28(K) 28(%) 28() 28(%) 28(%)
<EBFonE> EMMERR X
29(A) 29(7K) 29(+) 29(8) 29(K) 29(8) (B3 /5L L) 29(K) 29(4) 29(8) 29(k) 29()
30| AT AMBE)D 30(k) ? -nggﬁﬂﬁ) 30(R) | B =K (BF3k) 30(:K) 30(%) 30(A) 30(7k) 30(%) 30(8) 30(#) 30(8)
95TE—F405
31(%) 310K)] . 31(x) 31(K) 31(K) 31| R IBAS (24F) 31(A)




